Q10433

DATE:

% LAPPSET.

FINNO

4.3.2016

DET E

DET D

DET A

706564
FLORA

DET A / BASE

p3}1 dnoug 3jesddp yybrkdon



% LAPPSET.
FINNO

137417M

DATE:

11.4.2014

2(3)

Copyright 1998 Lappset Group Ltd

EN Impact Area 21.1 m2
Falling space 21.1 mZ2
Max falling height 1400 mm.

3910

1730

SO
Ty
(PR

u@ " NQ“'\’

4050

8100

2600




% LAPPSET.

Q10433

Copyright Lappset Group Ltd

FINNO
DATE: 4.3.2016
702286  |pcs 702533 |pcs 703248 |pcs 706564 |pcs 900965 |pcs 901958 |pcs
1 MAX 4 I 4
—1 | o™ o L
00
| FLORA COLOR |
90x50 90x50 L2650 M10
901959 |pcs 902234 |pcs 902487 |pcs 903149 |pcs 903577 |pcs 905090 |pcs
1 12
/ S (o ‘( (( <>
L2940 M12 65x65 M12x30 @45
905104 |pcs 905115 PCS 905138 |pcs 905196 |pcs 906499 |pcs
16 12 4 4
M10 @30 M12x110
909347 |pcs 909506 |pcs 909507 |pcs 909508 |pcs 909511 PCS 909637 |pcs
12 8 2 2 H 4 16
M12x35 23.5x13 L 1000 L 1000 L650 M10
909638 |pcs 909639 |pcs 909644 |pcs 980131 PCS 980154 |pcs
40 20 4 16 28
©20/10.5 M10x25 M12 @6x60 @24x13
PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




Copyright 1998 Lappset Group Ltd

3% LAPPSET.
FINNO UNDERGROUD AT

137417M

11.4.2014

3(3)

2670

BASE
DET B

SCALE 1:40

2450

330

550




8 LAPPSET. 137417M
FINNO DATE: 1.3.2014 3(3)

EN 1176




% LAPPSET. BASE

FINNO UNDERGROUD REF: SWING
DATE: 14.4.2014

(1/1)

4A

DET A
M10
905104
DET B
M10x25
DET B
901217/
M1 0x05 e/
?20/10.5
5
o A
% 909519
8




SWING PARTS

% LAPPSET. .
REF: SWING
FINNO DATE: 9.5.2014
JETA ®24/WS MT2 M12x30 2 pcs
(909644)
(980154) 8ONm (M12) s
MT2x30 d g}
(903149) ® M12 2 pes
i M10x25 2 pcs
M10 ©20/10.5 4 pcs
<900965> M10 2 pcs
e ’ 45Nm (M10)
10.5 905991 1 pcs
MTOx25
(909639) (909638)
s M12x30 6 pcs
024/13 6 pcs
@45 6 pcs
230 6 pcs
(909347) -
905090
DET B
M12
M12%x30 /W@Afﬁf) @m M12x30 2 pcs
(903149) 80NmM
*@ @24/13 4 pces
1, <z%9 M12 2 pcs
: ‘ M1
S 2 : (900965) 63ﬁﬁ® M10x25 2 pcs
5 , « 45Nm
g < % ?20/10.5 4 pcs
g M10 2 pcs
5 MWQX;R 320,/10.5 &
g (909639) (909638)




SWING PARTS

% LAPPSET. (2/3)
FINNO REF: SWING
DATE:  9.5.2014
DET B
@ M12x30 6 pcs
305090 024/13 6 pes
@24/W3 045 6 pcs
(980154)
M12x35
(909347)
@ @30 6 pcs
905115
GLUE
DET B
904317/
DET C
90NmM
e %
M12
5
§ » 904904
g g . 904904
3




% LAPPSET.

PARTS

FINNO REF: SWING

Copyright Lappset Group Ltd

DATE: 9.5.2014

(3/3)

DET D M12x7110

E »/ (906499)

024 /13

-/ (980154)

724 /13
(980154)
M12
(902234)
M8

N RN R

z
SRR TE

CUT EXTRA CHAIN

@24/13 4 pcs

§%% M12 2 pes

901958 1 pcs

DET D

903577/

DET E

oxb0
980131

905138 1 pcs

905196 1 pcs






